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Section 5.2 The Natural Logarithmic Function: Integration 
 

 

 
            

Ex.1  Using the Log Rule for Integration 

       
 
 
 
 
 
 
 
 
 
 
Ex.2  Using the Log Rule with a Change of Variables 

       
 
 
 
 
 
 
 
 
 
 
 

2. Stxdx
=

2.lu/x1tC--2lnlxltC

✓

let u=4x - I

du

*
=4

= SHY ) →
du = de .dX

ok

= LynStudy du = 4. DX

= -4. lulu I t C dyI=4¥,
= -4 In 14×-11 to ✓ dyI=dx



Ex.3  Finding Area with the Log Rule 
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Ex.4  Recognizing Quotient Forms of the Log Rule 
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Ex.5  Using Long Division Before Integration 
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Ex.6  Change of Variables with the Log Rule 
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Ex.7  u-Substitution and the Log Rule 

      
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
Ex.8  Using a Trigonometric Identity 
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Ex.9  Derivation of the Secant Formula 
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Ex.10  Integrating Trigonometric Functions 
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Ex.11  Finding an Average Value 
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